SIGNATURE PAGE

RFQ# F-70-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	KTM 2 LLC dba Arrow Safety Device Co.
	(PRINT)
Preparer's Name:	C. Troy Cannatelli
Signature:	C. Troy Cannatelli 10/02/2023
	123 Dixon St. Selbyville DE 19975
Telephone No.:	(302)856-2516
Fax No.:	(302)-856-1549
E-Mail Address:	tcannatelli@arrowsafetydevice.com
	(This should be the email where Contracts would be sent)
Contact Person:	C. Troy Cannatelli
FEIN:	
(Endoral Employee ID)	

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-70-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

RFB must be rece	eived no later than: September 20,	2023 10:30AM		
For Delivery to:	Division of Engineering/Traffic Safety Unit, Pt 240B Center Street, Building #2, Freehold, N			
Delivery Date:	90 DAYS AFTER AWARD OF CON	ITRACT		
		<u> </u>		
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18" X 36" PO 5 BANDS O DIAMOND O SHALL MEE STAMPED N THE BASE. PRODUCT :	Od: Plasticade 456-HD-T-4	150 EACH-	\$48.95	\$7,342.50
ORANGE, MOLDED POWITH HIGH MINIMUM 3' WITH 6" WH 6" BAND. SHALL MEE WITH MCPV PRODUCT 3	pallet JBC Safety Plastic RS70025C3M64	1,000 EACH	\$19.99	\$19,990

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-70-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONIMOLITH COLINTY COLOR)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
3	COMPLETE TYPE III BREAKAWAY BARRICADES, PLASTIC WITH LEFT HAND DIAMOND GRADE SHEETING, 48" X 8" PANELS, SHALL MEET ALL MUTCD STANDARDS. STAMPED WITH MCPW ON THE BACK OF TOP PANEL PRODUCT #: T3DG BRAND: TRAFFIC SAFETY SERVICE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	100 EACH	\$255.95	\$25,595.00
4	STOP AND SLOW PADDLES, 18" X 18", 72" PVC HANDLE, 6" LETTERS WITH DIAMOND GRADE SHEETING, PRODUCT # STSL-18DG BRAND: NHP-3MDG OR APPROVED EQUIVALENT	56 EACH	\$74.99	\$4,819
	Packaging: Cardboard Box MFG/Brand: Plasticade CCW-20-021-00166 Variances, if any:			
5	YELLOW TUFF POST 36" WITH YELLOW REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUVALENT	30 EACH	\$39.99	\$1,199.70
	Packaging: Cardboard Box MFG/Brand: ULINE Product No: H-4465Y Variances, if any:			
6	ORANGE TUFF POST 36" WITH ORANGE REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUVALENT Packaging: MFG/Brand: Product No: Variances, if any:	30 EACH	\$39.99	\$1,199.70

REQUEST FOR BID

C ---- This Is Not An Order ----



RFB# F-70-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

TEM#	DESCRIPTION	QUANTITY/UNIT	-/ UNIT PRICE	TOTAL PRICE
7	PORTABLE RUBBER ONE BASE PRODUCT # 103QR BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	60 EACH	\$18.99	\$1,139.40
		50 54011	\$20.00	4
8	" FLAGGER (SYMBOL) ", 36" X 36" (W20-7A) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP	50 EACH	\$89.99	\$4,499.50
	SIGN	•		
	WITH LEXAN POCKETS, WITH 36" FIBERGLASS			
	RIBLOCK			
	PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT			
	Packaging: Cardboard Box		<u>L</u>	
	MFG/Brand: BONE SAFETY SIGNS			
	Product No: RE3636FSOC			
	Variances, if any:	<u> </u>	,	
9	" BUMP "(WORDING), 36" X 36" FLUORESCENT	20 EACH	\$89.99	\$1,799.8
	ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS,			
	WITH 36" FIBERGLASS RIBLOCK			
	PRODUCT # ORALITE ROLL UP SIGN			1
	BRAND: ORAFOL OR APPROVED EQUIVALENT		-	
	Packaging: Cardboard Box	_ .	•	,
	MFG/Brand: BONE SAFETY SIGNS RE3636BUMPOC			•
	Product No: Variances, if any:	_ _	•	
10	· · · · · · · · · · · · · · · · · · ·	20 54011	\$89.99	\$2,699.70
10	" ROAD WORK AHEAD " (W20-1) 36" X 36" FLUORESCENT ORANGE	30 EACH	φ05.55	Ψ2,099.70
	SUPER BRIGHT ROLL UP SIGN WITH LEXAN]
	POCKETS,			1
	WITH 36" FIBERGLASS RIBLOCK			ŀ
	PRODUCT # ORALITE ROLL UP SIGN			1
	BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: Cardboard Box	١		١
	Packaging: Caroboard Box MFG/Brand: BONE SAFETY SIGNS	_		
	Product No: RE3636RWAOC	- -		
	· · - · · · · · · · · · · · · · · · · ·			

REQUEST FOR BID

----- This Is Not An Order -----



RFB# F-70-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFFTY (MONMOUTH COUNTY CO-OP)

EM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
SUPEF WITH : PROD	DUR 500 FT" 36" X 36" FLUORESCENT ORANGE R BRIGHT ROLL UP SIGN WITH LEXAN POCKETS 36" FIBERGLASS RIBLOCK UCT # ORALITE ROLL UP SIGN D: ORAFOL OR APPROVED EQUIVALENT	30 EACH	\$89.99	\$2,699.70
	kaging: Cardboard Box BONE SAFETY SIGNS	_		
	duct No:			
Varia	ances, if any:	_		
SUPER	OUR 1000 FT" 36" X 36" FLUORESCENT ORANGE R BRIGHT ROLL UP SIGN WITH LEXAN POCKETS 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE	30 EACH	\$89.99	\$2,699.70
	UP SIGN BRAND: ORAFOL OR APPROVED /ALENT			
	kaging: Cardboard Box	_		
	G/Brand: BONE SAFETY SIGNS duct No: RE3636D11000FTOC	_ `		
	ances, if any:	_		
SUPEF WITH : PROD	DUR 1500 FT" 36" X 36" FLUORESCENT ORANGE R BRIGHT ROLL UP SIGN WITH LEXAN POCKETS 36" FIBERGLASS RIBLOCK UCT # ORALITE ROLL UP SIGN D: ORAFOL OR APPROVED EQUIVALENT	30 EACH	\$89.99	\$2,699.70
Pack	kaging: Cardboard Box			
	G/Brand: BONE SAFETY SIGNS duct No: RE3636D1500FTOC	_	,	
	ances, if any:	-		
CHANI 42" WI	RESCENT ORANGE POLYETHYLENE NELIZER, ITH TWO 6" WHITE DIAMOND GRADE BANDS S NOT INCLUDE RUBBER BASE)	15 EACH	\$27	\$255
	UCT # NAVIGATOR 2 DG			1
	D: PSS OR APPROVED EQUIVALENT kaging: Cardboard Box			<u>l `</u>
MFG Prod	G/Brand: ULINE H-3418		•	
Varia	ances, if any:	_ .		
*				l

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-70-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
15	TWO WAY TEMPORARY OVERLAY MARKERS, YELLOW PRODUCT # 8007, BRAND: TRAFFIC SAFETY WAREHOUSE OR APPROVED EQUIVALENT Packaging: Cardboard Box MFG/Brand: TRAFFIC SAFETY WAREHOUSE Product No: 8007 Variances, if any:	3,500 EACH	0.75	\$2,625
16	TWO WAY TEMPORARY OVERLAY MARKERS, WHITE PRODUCT # 8007, BRAND: TRAFFIC SAFETY WAREHOUSE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	1,000 EACH	0.75	\$750
17	"TWO-WAY TRAFFIC DIVIDER SIGNS", (W6-4), DG3, RECTANGULAR, 12" W X 18" H, FLUORESCENT ORANGE, PRODUCT # W6-4, BRAND: HALL SIGNS OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	30 EACH	\$19	\$570
18	"LITTER PATROL" " 36" X 36" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN, BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	30 EACH	\$90.99	\$2,729.7
		· .		

RFB# F-70-2023

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#		DESCRIPTION	QUANTIT	Y/UNIT	UNIT PRICE	TOTAL PRICE
19	" DETOUR AHEA	AD " " 36" X 36" (WORDING)	25	EACH	\$89.99	\$2,249.75
	FLUORESCENT ORANGE				Ψ00.00	Ψ2,240.70
	SUPER BRIGHT	ROLL UP SIGN WITH LEXAN POCKETS,				
	WITH 36" FIBER	GLASS RIBLOCK				
	PRODUCT # OR	ALITE ROLL UP SIGN,				
	BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: Cardboard Box					
						
		BONE SAFETY SIGNS				
	Product No:	RE3636DOAC	<u> </u>			•
	Variances, if ar	ту:				

TOTAL:

\$87,562.85

***NOTE:

TRUCKING CO. MUST HAVE TAILGATE DELIVERY. UNLESS OTHERWISE SPECIFIED AT THE TIME OF AWARD, DELIVERIES OF CONTRACTED MATERIALS SHALL BE MADE AT 240B CENTER STREET, FREEHOLD. AT LEAST 24 HRS. ADVANCE NOTICE SHALL BE GIVEN BY CALLING 732-431-7761, EXT. 7849.THE MATERIALS DESIGNATED HEREIN ARE TO BE SUPPLIED WITHIN 90 DAYS AFTER AWARD OF CONTRACT.

^{****}BRAND NAMES AND NUMBERS ARE MENTIONED FOR IDENTIFICATION PURPOSES ONLY. ALL ITEMS MAY BE AN EQUIVALENT. IF BIDDING AN EQUIVALENT, PLEASE SO IDENTIFY, INCLUDE PRODUCT LITERATURE, AND BE PREPARED TO DEMONSTRATE EQUIVALENCY.